Math 200 - Quiz 8 Name __ Key
April 4, 2012 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (1 point) Use the short division algorithm to compute 4689 = 6.
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2. (2 points) Use any multiplication algorithm to compute 342g,,. x 436 ve-
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3. (1 point) Use an integer addition model to model 5 + (—6).
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4. (1 point) Jerry used the following pattern to illustrate —3 + 2. Explain what’s wrong
with Jerry’s approach.

—-3+5=2, -3+4=1, -3+43=0, -3+2=-1
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3+3=5, a+d=4, [+3=3, 0+2:=3, -[+9=| ,-3+d =0,
-3+2=-|

5. (2 points ex cred) On the back of this sheet, use base blocks to compute and illustrate ,
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